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2. H•$n`m ‡ÌZ-nÃ H$mo Om±M b| {H$ nÃ Ho$ Hw$b n•>m| VWm ‡ÌZm| H$s CVZr hr gßª`m h° {OVZr ‡W_ n•> Ho$ g~go D$na N>nr h°ü& Bg ~mV H$s

Om±M ^r H$a b| {H$ ‡ÌZ H´${_H$ Í$n _| h¢ü&
3. CŒma-nwpÒVH$m _| nhMmZ-{Mï ~ZmZo AWdm {Z{X©Ô> ÒWmZm| Ho$ A{V[a∫$ H$ht ^r AZwH´$_mßH$ {bIZo na narjmWu H$mo A`moΩ` R>ham`m Om òJmü&
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H•$n`m CŒma-nwpÒVH$m _| {XE JE ~m∞äg _| {bI| {H$ Amn {H$g ^mfm _| CŒma {bI aho h¢ü&

(I) `{X Amn {h›Xr Edß AßJ´oOr Ho$ A{V[a∫$ {H$gr A›` ^mfm _| CŒma {bIVo h¢ Vmo ‡ÌZ H$mo g_PZo _| hmoZo dmbr Ãw{Q>`m|/Jb{V`m| H$s {OÂ_oXmar
Ho$db AmnH$s hmoJrü&

316/HIS/108A [ P.T.O.

Roll No.
AZwH´$_mßH$

Set/goQ>  u

Roll No.
AZwH´$_mßH$



GEOGRAPHY
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Time : 3 Hours ] [ Maximum Marks : 80
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Note : (i) There are 24 questions in all.

(ii) All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Question Nos. 1 and 2 are on filling Outline Maps of the World and India

respectively. Each question contains 4 test items of very short answers of

1 mark each.

(v) Question Nos. 3 to 6 are very short answer questions carrying 1 mark each.

Answer to these questions should not exceed 30 words each.

(vi) Question Nos. 7 to 11 and 21 & 22 are also very short answer questions

carrying 2 marks each. Answer to these questions should not exceed

60 words each.

(vii) Question Nos. 12 to 15 and 23 & 24 are short answer questions carrying

4 marks each. Answer to these questions should not exceed 100 words each.

(viii) Question Nos. 16 to 20 are long answer questions of 6 marks each. Answer

of each of these questions should not exceed 140 words each.

(ix) Use of templates or stencils for drawing outline maps in illustrating your

answer is allowed.

(x) Answer of Question Nos. 21 to 24 of Section–B should be given from any

one of the Options.
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{ZX}e : (i) ‡ÌZm| H$s Hw$b gßª`m 24 h°ü&

(ii) g^r ‡ÌZ A{Zdm ©̀ h¢ü&

(iii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ {ZYm©[aV AßH$ {XE JE h¢ü&

(iv) ‡ÌZ gßª`m 1 Am°a 2 H´$_e: gßgma Am°a ^maV Ho$ aoIm_mZ{MÃm| Ho$ ^aZo na hß°ü& ‡À òH$ ‡ÌZ _| A{V
bKw-CŒmam| H$s 4 narjU _X| 1-1 AßH$ H$s h¢ü&

(v) ‡ÌZ gßª`m 3 go 6 A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ H$m 1 AßH$ h°ü& Eogo ‡À òH$ ‡ÌZ H$m CŒma 
30 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vi) ‡ÌZ gßª`m 7 go 11 VH$ Am°a 21 VWm 22 ^r A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 2 AßH$
h¢ü& BZ_| go ‡À òH$ ‡ÌZ H$m CŒma 60 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vii) ‡ÌZ gßª`m 12 go 15 Am°a 23 VWm 24 bKw-CŒmar` ‡ÌZ h¢, {OZ_| go ‡À òH$ Ho$ 4 AßH$ h¢ü& BZ_|
go ‡À òH$ ‡ÌZ H$m CŒma 100 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(viii) ‡ÌZ gßª`m 16 go 20 VH$ XrK©-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 6 AßH$ h¢ü& Eogo ‡À òH$ ‡ÌZ H$m
CŒma 140 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(ix) AnZo CŒma H$mo ÒnÔ> H$aZo Ho$ {bE aoIm_mZ{MÃ ~ZmZo Ho$ {bE gm±Mm| `m ÒQ>|{gbm| Ho$ ‡`moJ H$s AZw_{V Xr 
OmVr h°ü& 

(x) I S>ç~ _| ‡ÌZ gßª`m 21 go 24 VH$ Ho$ CŒma {H$gr EH$ {dH$În _| go Xr{OEü&

SECTION–A

I S>–A

1. The following four geographical features (1), (2), (3) and (4) are marked on the

given Political Outline Map of the World. Identify these features with the help of

the following information and write their correct names in your answer-book : 1×4=4

(1) A lava plateau; (2) A volcano; (3) A grassland; (4) A desert

{XE JE gßgma Ho$ amOZr{VH$ aoIm_mZ{MÃ _| {ZÂZ{b{IV Mma ^m°Jmo{bH$ bjUm| H$mo (1), (2), (3) 

Am°a (4) go {XIm`m J`m h°ü& BZ bjUm| H$mo {ZÂZ{b{IV OmZH$mar H$s _X>X go nhMm{ZE Am°a CZHo$
ghr Zm_ AnZr CŒma-nwpÒVH$m _| {b{IE :

(1) EH$ bmdm nR>ma; (2) EH$ ¡dmbm_wIr; (3) EH$ Kmg^y{_; (4) EH$ _ÈÒWb
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2. The following four geographical features (1), (2), (3) and (4) are marked on the

given Political Outline Map of India. Identify these features with the help of the

following information and write their correct names in your answer-book : 1×4=4

(1) A mountain range; (2) A river; (3) An iron and steel plant; (4) A type of

natural vegetation

{XE JE ^maV Ho$ amOZr{VH$ aoIm_mZ{MÃ _| {ZÂZ{b{IV Mma> ^m°Jmo{bH$ bjUm| H$mo (1), (2),

(3) Am°a (4) ¤mam {XIm`m J`m h°ü& BZ bjUm| H$mo ZrMo Xr JB© OmZH$mar H$s _X>X go nhMm{ZE Am°a
CZHo$ ghr Zm_ AnZr CŒma-nwpÒVH$m _| {b{IE :

(1) EH$ nd©V loUr; (2) EH$ ZXr; (3) EH$ bmohm Am°a BÒnmV gß`ßÃ; (4) ‡mH•${VH$ dZÒn{V H$m EH$
‡H$ma
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3. Why has the North-Eastern region of India sparse railway network? Give any

two reasons. 1

^maV Ho$ nydm}Œma joÃ _| aob n[adhZ VßÃ {dab ä`m| h°? H$moB© Xmo H$maU Xr{OEü&

4. Name the ocean which has largest number of trenches. 1

Cg _hmgmJa H$m Zm_ ~VmBE {Og_| g~go A{YH$ JV© h¢ü&

5. Which two cities are joined by the East-West Corridor? 1

nyd©-npÌM_ J{b`mam H$m°Z-go Xmo eham| H$mo OmoãS>Vm h°?

6. Why does the north-east coast of Canada remain icebound during the winter

season? Give one reason. 1

H$ZmS>m H$m CŒmar-nydu VQ> erV G Vw _| ~\©$ go ä`m| T>H$m ahVm h°? EH$ H$maU Xr{OEü&

7. Mention four types of soil erosion. ½×4=2

_•Xm AnaXZ Ho$ Mma ‡H$ma ~VmBEü&

8. State four linguistic families on the basis of their roots and genesis. ½×4=2

_yb Am°a CÀn{Œm Ho$ AmYma na Mma ^mfm`r n[adma ~VmBEü&

9. Explain any two objectives of river valley projects. 1×2=2

ZXr KmQ>r n[a`moOZmAm| Ho$ {H$›ht Xmo C‘oÌ`m| H$s Ï`mª`m H$s{OEü&
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10. Study the map given below showing ocean currents and answer the questions

that follow :

(a) The currents of which ocean have been shown in the map?

(b) Name any two warm currents in the Southern Hemisphere. 1+1=2

ZrMo {XE JE _mZ{MÃ H$m A‹``Z H$s{OE {Og_| _hmgmJar` YmamAm| H$mo {XIm`m J`m h° Am°a CgHo$
ZrMo {XE JE ‡ÌZm| Ho$ CŒma Xr{OE :

(H$) _mZ{MÃ _| {H$g _hmgmJa H$s YmamE± {XImB© JB™ h¢?

(I) X{jUr Jmobm’© H$s H$moB© Xmo J_© YmamE± ~VmBEü&
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11. The table given below shows the temperature and rainfall data of a particular

station. Study it carefully and answer the questions that follow :

Months Temperature (°C) Rainfall (mm)

January 24 4

February 24 2

March 24 2

April 28 2

May 30 18

June 29 465

July 27 613

August 27 329

September 27 286

October 28 65

November 27 18

December 25 2

(a) Calculate the total annual rainfall.

(b) How much is the annual range of temperature? 1+1=2

ZrMo Xr JB© Vm{bH$m _| EH$ Ho$›– Ho$ Vmn_mZ Am°a dfm© Ho$ Am±H$ãS>o {XE JE h¢ü& BZH$m gmdYmZrnyd©H$
A‹``Z H$s{OE Am°a CgHo$ ZrMo {XE JE ‡ÌZm| Ho$ CŒma Xr{OE :

_hrZo Vmn_mZ (°C) dfm© ({_0 _r0)

OZdar 24 4

\$adar 24 2

_mM© 24 2

A‡°b 28 2

_B© 30 18

OyZ 29 465

OwbmB© 27 613

AJÒV 27 329

{gVÂ~a 27 286

A∫y$~a 28 65

ZdÂ~a 27 18

{XgÂ~a 25 2

(H$) Hw$b dm{f©H$ dfm© H$s JUZm H$s{OEü&

(I) dm{f©H$ Vmn n[aga {H$VZm h°?
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12. Explain the main features of the four branches of systematic geography. 1×4=4

H´$_~’ ^yJmob H$s Mma emImAm| Ho$ ‡_wI bjUm| H$s Ï`mª`m H$s{OEü&

13. Which layer of the atmosphere is considered ideal for flying of aircrafts?

Mention its any three characteristics. 1+3=4

dm ẁ_ßS>b H$s H$m°Z-gr naV dm`ẁ mZm| H$s CãS>mZm| Ho$ {bE AmXe© _mZr OmVr h°? BgH$s H$moB© VrZ
{deofVmE± ~VmBEü&

14. ‘‘No other biome has undergone so much changes as the temperate grassland

biome.’’ Justify this statement by giving four suitable arguments. 1×4=4

""H$moB© A›` Ordmo_ BVZo n[adV©Zm| go Zht JwOam {OVZm {H$ erVmoÓU H${Q>~›Yr` Kmg^y{_ Ordmo_ü&'' Mma 
Cn`w∫$ VH$m] ¤mam Bg H$WZ H$s nw{Ô> H$s{OEü&

15. Describe, in brief, any four characteristics of the hot weather season. 1×4=4

J´rÓ_ G Vw H$s {H$›ht Mma {deofVmAm| H$m gßjon _| dU©Z H$s{OEü&

16. Describe any six points of economic significance of rocks. 1×6=6

e°bm| Ho$ Am{W©H$ _hŒd H$m {H$›ht N>Ö {~›XwAm| _| dU©Z H$s{OEü&

17. Examine any six points of significance of water vapour for life on the earth.

1×6=6

n•œdr na OrdZ Ho$ {bE ObdmÓn Ho$ _hŒd Ho$ {H$›ht N>Ö {~›XwAm| H$s g_rjm H$s{OEü&

18. Describe any six characteristics of black soils. 1×6=6

H$mbr _•Xm H$s {H$›ht N>Ö {deofVmAm| H$m dU©Z H$s{OEü&

19. Analyze any six steps taken by the government to increase fish production and

its trade in India. 1×6=6

^maV _| _ÀÒ` CÀnmXZ Am°a BgHo$ Ï`mnma H$mo ~ãT>mZo Ho$ {bE gaH$ma ¤mam {H$E JE {H$›ht N>Ö ‡`mgm|
H$s {ddoMZm H$s{OEü&

20. Define density of population. Explain any five factors affecting distribution and

density of population. 1+5=6

OZgßª`m-KZÀd H$s n[a^mfm {b{IEü& OZgßª`m Ho$ {dVaU Edß KZÀd H$mo ‡^m{dV H$aZo dmbo {H$›ht
nm±M H$maH$m| H$s Ï`mª`m H$s{OEü&
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SECTION–B

I S>ç~

OPTION–I / {dH$ÎnçI

( Local Area Planning )

( ÒWmZr` joÃ {Z`moOZ )

21. State any two uses of base maps. 1×2=2

AmYma _mZ{MÃ Ho$ H$moB© Xmo Cn`moJ ~VmBEü&

22. Explain any two merits of the arithmetic mean. 1×2=2

AßH$J{UVr` _m‹` Ho$ {H$›ht Xmo JwUm| H$s Ï`mª`m H$s{OEü&

23. Explain any four steps involved in the collection of secondary data. 1×4=4

{¤Vr`H$ Am±H$ãS>m| Ho$ EH$ÃrH$aU _| gpÂ_{bV {H$›ht Mma gmonmZm| H$s Ï`mª`m H$s{OEü&

24. Suggest any four priorities of planning for the development of tribal areas in

India. 1×4=4

^maV _| OZOmVr` joÃm| Ho$ {dH$mg Ho$ {bE {Z`moOZ H$s H$moB© Mma ‡mW{_H$VmE± gwPmBEü&

OPTION–II / {dH$ÎnçII

( Geography of Tourism in India )

( ^maV _| n`©Q>Z ^yJmob )

21. Mention any two factors for the popularity of Kovalam beach. 1×2=2

H$modmb_ nw{bZ H$s bmoH${‡`Vm Ho$ H$moB© Xmo H$maH$ ~VmBEü&
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22. Explain the term ‘trekking’. Give any two points. 1×2=2

"Q¥>oqH$J' (n°Xb ^´_U) e„X H$s Ï`mª`m H$s{OEü& H$moB© Xmo {~›Xw Xr{OEü&

23. How does tourism help in the development of underdeveloped areas? Explain

any four points. 1×4=4

n ©̀Q>Z AÎn{dH${gV joÃm| Ho$ {dH$mg _| H°$go _XX H$aVm h°? {H$›ht Mma {~›XwAm| _| Ï`mª`m H$s{OEü&

24. Discuss any four effects of mass tourism on environment. 1×4=4

OZ n ©̀Q>Z ¤mam n`m©daU na nãS>Zo dmbo {H$›ht Mma ‡^mdm| H$s MMm© H$s{OEü&

H H H
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